Topic 5: Circles
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1. A designer needs to create perfectly circular C= Br
necklaces. The necklaces each need to have a e
radius of 10 cm. What is the largest number of : = 2™
necklaces that can be made from 1000 cm of wire? o ¢ =42.931¥5307
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2. In the diagram below of circle O, the area of the yoi  evouelh

shaded sector AOC'is 127 in® and the length of O for 1¢
15 6 inches. Determine and state mZA40C .
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3, In circle O, secants ADB and AEC are drawn from
external point 4 such that points D, B, E, and C are
oncircle O. If AD =8, AE =6, and EC is 12 more

than BD, the length of BD is

1 6

2 22

3 36

4 48 G (r+%) 7 6 (x+1%)

? gx+ LY (r+IDY

2y = HY
- =




4. In the diagram below, tangent DA and secant DBC

are drawn to circle O from external point D, such

——
that 4C = BC.

162

IfmBC = 152°, determine and state m/D.

5. The equation of a circle is x* +y* -6y +1=0.

‘What are the coordinates of the center and the
length of the radius of this circle?
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center (0,3) and radius = 2‘\/5
center (0,—3) and radius = 2‘\6
center (0,6) and radius = afg
center (0,—6) and radius = '\/E

6. A circle has a center at (1,-2) and radius of 4.
Does the point (3.4,1.2) lie on the circle? Justify

your answer.
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Topic 6: 2D & 3D Figures

1. A farmer has 64 feet of fence to enclose a
rectangular vegetable garden. Which dimensions ;. ;.

would result in the biggest area for this garden? v b F -
@ theiengﬂlgndﬂlewidthareeql_lal HESTHED 2w 4 ,: 2
2 the length 1s 2 more than the width : Yw =t
3 the length is 4 more than the width Bl W ELS
4  the length 1s 6 more than the width 16)(17
He 2wy 20w sty 255
2. If an equilateral triangle is continuously rotated EWE Wy BhH
around one of its medians, which 3-dimensional Hw > g2
object 1s generated? ol g
@ cone (13)(16) = 247
2  pyramd
3  prism
4  sphere

3. The cross section of a regular pyramid contains the
altitude of the pyranud. The shape of this cross

section is a
1 circle
2 square

@ triangle
rectangle

4. Two stacks of 23 quarters each are shown below.
One stack forms a cylinder but the other stack does
not form a cylinder.

Use Cavelieri’s principle to explain why the
volumes of these two stacks of quarters are equal.
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5. A water cup in the shape of a cone has a height of 4
inches and a maximum diameter of 3 inches. What
1s the volume of the water in the cup, to the nearest
tenth of a cubic inch, when the cup is filled to half

its height? =
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A contractor needs to purchase 500 bricks. The
dimensions of each brick are 5.1 cm by 10.2 cm by
20.3 cm, and the density of each brick is

1920 kg /m’. The maximum capacity of the

contractor’s trailer 1s 900 kg. Can the trailer hold
the weight of 500 bricks? Justify your answer.
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